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B.Com./Sem. H B
Paper C-P-2.1 —- BUSINESS AND INDUSTRIAL LAWS
(Admissions of 2011 onwards)

Time : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this guestion paper.)

Note: Answers may be written either in English or
in Hindi; but the same medium should be
used throughout the paper.
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Attempt all questions.
All questions carry equal marks.
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1. (a) Define Offer and Acceptance. Also explain
legal rule regardmg communication of offer

S P RV PR, PR



9501

(&)

(2)

(b)

to the court that the sale should be can
celled as he was minor at the time of sale
and he should be aliowed to recover the
possession of property from ‘B’. Discuss
citing a case law, if he will succeed.
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Define Coercion and undue influence. What
is the difference between the two ?

What are Quasi-Contracts ? Explain the
types of Quasi-Confracts with suitable
examples. '
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A, a contractor agreed to supply sleepers to
the Railway. One of the terms of the
contract was that on account of A’s failure
to supply the sleepers, he will have t0 pay
damages to the Railway, whether or not the
Railways suffered any loss. A failed 1o

supply the sieepers. Byt the Railways did -

ot suffer any loss. Even 50 a suit for
damages was filed against. A, Discuss if
Railway is entitled to claim damages,
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Distinguish between Contracts of Indemnity
and Guarantee,

Who is an Unpaid Seller 2 Explain the
rights of Unpaid Seller against goods.
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Contract of Sale ? Explain with examples.
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Define Limited Liability Partnership. What
are the characteristics of Limited Liability
Partnership ?
Distinguish  between Limited Liability
Partnership 2008 and  Traditional
Partnership 1932. :
i afre TRl ofonfa ST
i e TR e €
S o WEER 2008 IR TERIE
Al 1932 & v T |

OR / &gl
Write notes on Incorporation Document &
Incorporation by Registration of Limited
Liability Partnership.
Distinguish between Limited Liability
Partnership ~ and Limited  Liability
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make payment 7/ 0
(b) What is ‘Salary’ or ‘Wage’ under the

Payment of Bonus Act 1965 and what is not

included in salary ? 6

() When and to whom is Gratuny Payables
under the Payment of Gratuity Act 1972 7 3
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{(a) What are the provisions relating to the time
of payment of wages and fixation of wage
period under Payment of Wages Act, 1936? 6

(b) Who is eligible for receiving Bonus and
who is disqualified from receiving Bonus
under Payment of Bonus Act 1965 ? - 6

(¢) What are the prov131ons relating. to for
feiture of Gratuity under Payment of
Gratuity Act, 19727 3
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What 1s not deemed to be deduction ? What
1s maximum limit of total deductions under
Payment of Wages Act, 1936 ?

What are the classes of employees to which

the Payment of Bonus Act, 1965 does not

apply ?

State ‘Yes’ or ‘No’ if the fo]lowmg is an

employee under the Payment of Gratu:ty

Act, 1972,

{i)  Apprentice

(i) Teacher

(i) Workers employed by private
contractors. )
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(b) Explain and distinguish the terms Available
Surplus and Allocable Surplus under
Payment of Bonus Act, 1965. 6

(c) State ‘Yes’ or ‘No’ if the following is an
employee under Payment of Gratuity Act,
1972. 3

(i) Home Worker
(i) Government Servant
(iii) Casual Worker
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